
38.
(cooRD NATE GEOMETRY)

sTlEtWrq',aqqaqt

r. r5. srrtf, t f<t T+ fu€ a1 furid:
q1 qqq 6q-qa Mi x ox414t yor refrq 6-( Eq 6rrrq

fr sro-e qi qn qtrqt qFif t de At t. Er HqEF

tereii o) r'cfl: .r-e{H Eql y-e{er E-6il t.
qrfrd + sR q{rE{ d q q e++. q} qgqtYr q-6t t.
sqfi?r xor xoY xoY ?iql xoY a 16-rI{l: l, II, tll,
IV s-gqta 6-64 t.
sq-o-o d fiem ffi fr '< e} w mfira 5,q (a, b) t <Rtd

Y

II
(-, +)

I
/+ +\

x

III
(-, -)

IV
(+, -)

fqqr qrn t, s-dY a ql 5v t*q +.t .r-FIt{li6 ilil a e} v-frtvrtm e-a srm t

rI. tfd-Sir+ata*1qfr:
qfr I (rt, ),t) He{ B (x2, t)A fq-< d, d,tr = (r, -rr)' * (1,,- n)'

rn. ffi feg r 6,, yy) +1 W tq-< o (0, o) t (t : *?+v?

Iv. sR A,4BC + IN A @ t, y ), B (x 2, y2) dw c (x3, l3) ti, al qq frUc 4.r *-ds-d

Il=- ') {x{vz- h) + x2b\- y) + \Ot-Yz)l q'i E6.ri

u. +r e<di* qtuAi + fu enqr+n vrd:
fi-t t+<,1 (x 

1, t 1), B (x 2, y ) a4 C (x3, y3) ufru mfr ttt qqh

. xr(t2- 4) + xrQt - l) + xttg, - t2) = 0.

vr. ffi ftrq6ra fr G tqr ai famn u,m,
(i) qR,4 (r 

1, 11) nel B (x2, y2) ai fred srd t€rs's qi l+€ P (x, v) d r+ri tl ze : n

ft erlq-6g6r*oi, fr,= 9,1i\) , ,= 
(^lz+'lr) 

.(n+n) (m+ n)

(i,) rTR I (x1, y,) irn B (;r2, vr) +1 fi+ati qrd toroos m cq F{< P (x, v) d, dt

,= ). Ur+12) fl /: ) rr,,* rrl
vII. A,ABC +'fid t+6 ,a 1:,, r1), B (x2, y)dut c (:r3, y3) t. vq B'Jq *- +-{6 (centroid) t

vx

+

+
I

II
III
IV

vgvfw
+

+
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f{t{ri6qrftfr

qrEnsqr6<ur

cv-{ r. frA fE} Tn fudBil ii te+n fuirqrqd ftrra t ?

(i) (4,7) (r) (- 3, - 8)
(rrD (s,-3) (iv) (2,s)

EFT: FIEtTfifS-€
14 1-+, z;fffr<vnct
(i0 (-3, - ay Efra vr< d t
(,,,) (5,-3)qgefqrqit
(rv) (2, 5) Ycrc crq d t

vrt4. fuqdBqt*fu<,1 (-3,0), ^a(1,-3)ircrTc(4, t)
q€ rErtrsrg qtr*tur fftq + yft{ fq;C t.

16: eetfo:
ABz = ei -l)2 + (0 + 3)2 : (4)2 * tz = 116 + 9) : 25;
BC = @ - l)2 + (l + z1z = 6z + az1 = p + t6) = 2s.
AC2 = @ +3)2 + ( - o1z = 172 + P) : @g+ l) = 50.
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x' o

II
(-, +)

I

(+, +)

IV
(+, -)

IIT

c,-)

A (-3.0)

I

uw2. filpil A(a,6)durr B 1s,--oy**a*1Efr6df<q.
EtI: lB: (3+3)2 +(-6-6)2 = 62 +(-12)2 = O6+tA =./is0 = f6,5 = 6..6 E6r{
srt 3. fu<,l (8, - E) B1qafrqtqfr ffi t ?

fa: snfrtz(0= 82+(-8)2 = J64+64= Jl28 = @ * = ali

f{avt6#n (!t,,*,^l.*), 
i O,*rr*r)).-[3'' '

qrt G f*, ffi F{tq e1 qlTa-firdt + n'ftrd< fi-< ql Es fruq ql +<+. +-64 E.

vrII. Efr{aua;rt+Tq{q:
' (fiTs{qdtl'

(i) i{rrd, sf< {s+i fdrfrd 5w{ <tr< d nu M ewr d.
(,D !tr vrr6 =* qrF[ snrd rfr , qF( E{r+1 tcrfr d gw} sqrqq 6er q{rE{ d, mr

t++otqtrEr c dt.

(rr,) rlEs Ertt, qR Es+i vrd gqr.i q{r{{ tT nqr t*+ol effi{d.
(iv) (t5, Tt-uglh, qR Fs-*l qRf gwl er* ft rg f+s'"f q{r+{ r Ei.

,1. 1gplqffiF6Turl
(r) x-oIH fl {{frs-tq t, y = 0.

(t,) ),-3{H rfit g{-6-{q t, x = O.

(iii) y-erer *' uw<1 aqr Vsi a q$ vr furatcr w vfrmq t, x : a.

(rv) :-elt *'vrq nqr tst a q0 vt furr ter o.r rrg-rrq t, y = a.

(v),4 (r1, y1 ) reII B (x2, y2) t Xvri ard tur +,r s*orur t: ry = vz - vtr 
.

tstorolare : !z-h x-xt x2-xr

x2-xl
(y i) y = nx + s qfi tqr q.r sfr+..{q t ffi ere z t irerr * y-oTtr yt interce pt= cUtt

B(1,-3) c (4, l)

x
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He t fs',{B = BC = J-zs : s r+r{ aqr m2 + BC = tC.
,'. A,4BC!tr'qqt6-dlg qr+1q i*gq t.

wr s. qR ga qrra { ftra qn fq€, z (2, -l), B (3, 4), c (-2, 3) iTcn D (-s' -z) E}, fr fu6
qlHq t* .,lrca q6 Tf,q-E{F t cf{ T'i Tff .

11d: AB2=(3-D2+(4+ l)2 =62+521=26,
BC = e2 -t1z + 1t - af = g51z + (t)2 = 26,

co2 = (-3 + z)z + (2 - 3f = 1-t12 + 1-sf = 26,

ADz -- (2+ 3)2 + (-l + 2)2 = 52 + 72 : 26.

... AB = BC = CD : DA: J26 $I€.
ffieC:(2-2f+(3+l)2=1472++z=32 A(2'-l) B(3'4)

+ AC= Jn = qJi.'
ffi arP: (-3-3)2 + (-2-4)2: (-4)z +(-6)2: (36 ) 36):72= BD= Jn = eJi
.'. ffi AC*ffi8D.
era: ,4BCDgfiqqqEtqt.

cgqo. fuqq;ifr6.,{(1,-3),r(13,9),c(10, l2),Hc11D(-2,0)iErM;qinerra+vfr{Fo-gt'

D (-3, -2) C
(-2,3)

Eld: AB2

EC2

C'D2

AD2

= (13 - l)2 + (9 + 3)2 : (t2)2 + (r2)2

= 144 + 144:288,
= (13 - lo)2 + (9 - t2)2 = 12 + (-3)z

= (9 + 9): 18,

r= (10 + 2)2 + (t2 - o)2: (t2)2 + (tz)2
: 144 + 144 :288,
= (-2 - D2 + (0 + 3)2 = 1-tf + t2

D (-2, 0)

A(1,-3)

c ( r0, 12)

B (13.9)

=(9+9)=18.
.'. ABtco: Jzw=[44", =l2Jt<qr BC=AD=-$84J1.
p6d eO = (10 * l)2 + 02 + 3)z = gz + (5)z : (81 + 22s) : 306,

66oi rrP : ez-13)z + (0 - e)2 : (-l s)2 + eDz = (22s + 8 l) = 306.

.'. ffi lc = ffi BD: .tio6 -- $"N = tJu

.'. zrco q+ srpn t.
uqa 7, LABC* vft{ f<'q,< O, 2), B (-2, 3) iTen c (-3, --4) t LA B c ar qt{6f, ffiaiT t ?

6a: <6t.x, :1, xz:-2, \:'3o'ttlr = 2, yz=3, Jt=-4.

lxt(yz- h) + x2@3- !) + x|gt - t)l

{1.(3+4)-2(4-'2)-3(2-3)} = + .17+12+3} = lls'iF6ri
z

uFT 8. I +' tds qr{ + tdq fu€,4 (1\ 5),^B (r, 1) irqt c (4, I 1) {trq t ?

EA: <6ix1 =l,xz:k,4=4illl.yr = 5, yz=1,./3: ll.
fl<a TA ii-< Tfrs il+ fi q-ct6 A = o.

sfdt, A:0 <+ :1b,2 -4)-tx.(g3-/)+40r-yz)=0
(+ l.(l - ll)+t(ll -s)+4(5- l):0
<+ -10 + 6k+ 16=0= o*=- 6 e k= - l.

IL=z

=l
2



t{tflisqrtufr 4sz

uw e. qR.4 (4, -3) iTer a-(e, 7) A fu< d * fuq r t f{emtu wr frt wef6 q6 fuq,lr ut
3:2* er{qrad#a

Err: errfre dnp(ru:-L, mYz+nh).

- \ m+n m+n )'VEIxr:4, xr:9, lt=-3, !2:7, m:3dt4l n= Z.

. sru,Efs< pfye*z*n 3x7+2x(-3r\ ._ _ f35 15)
l. 3, ' ur- )3T'rr(P l. 5 'T.J 3IqRP(7' 3)'

svlr 10. l+6 r 12, -sy tcgwl ,l (-3, s) im B (, -9\ d fu{ri srd tsrqs-s qt frq srdqril t' a'rrmte

f,Fr : rrFrr e.frE oTlcrd:* : r t. a-s r( H,++l = (2, _s)

4k-3 - -9k+5 
( t+l k+t )

= : 2 fleITr _k+t 
-# 

=-5 + 4k-3:2k+2=zf :s +f : 
].

3lfie€ficrd=i:l=s:2."2
sFI 1 1. ss hsr *1 gra ffi t FsF*'r tfrqtsr i Etur t:

(r 30" (iD t20o (i,, t3so
I

EFI: li) m-tan30.- -;.
J3

(ii) n : Ian 120" : tan (180o - 50o) = - tan 60. = - S
(iii) m= tan 135'=tan(180.-45o)=-tan 45o:-1.
(iv) I = tan 90., S cftqrfrd Td t.

qy{ 1 2. sstsr qT *Prq ter t qtur fq,mr t ffi gro t:
(4 6 GD + (iiit t

V3
E€I: (i) tan$=.6-0=60".

_l
(ii) tanU =- t=+ e -- 3Oo.

VJ
(iii) tan 0= I =0:45o.
(iv) tan 0:- l:-tan 45o =tan (180. -45"):tan l35o = 6= 135..

YFI 1 3, w tur +t gra ffi t * ftr{sfr / (-2, s) iTerr, (4, _O t rJqrfr t ?

Ei{: z{B+1sra _ y2-y1 
= 
(t'-l) _ -9 _ -3' x2-\ @+2) 6 z

uP.T t+. \mtwif,ts#*1ur4r +3y-7:ot Vr*1amffrdfrt?

4
{sTqrzF,I 6-rd= T.

cPn 15. tGtqrter+3y-5=0iErr*r+ Ay.+l =g tfr,**4.rcrlt6il{rdqri
(€I : 2.r + 3y - 5= 0 + 3y= -Zx + 5 - y= +, - 1.

ls + 6y+7 =0.+ 6y= - b -7 + y: +- - j
tqr}sqrarfi*.feg z, :rrr.

(iv) 90o

(iu) - I
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-k -2
63

)ax6
J

IIFI 16. qft Sx + 3y + 6 -0 ?feII 3x - *y + 2 = 0 q{(Ir{HE-{il d, fr * ql qrt Hr tm ?

(€t: 5r + 3y + 6= 0 + 3Y: * 5x'6 - r= ]' -''

3x-tE+2=o+tE=3x+2+Y= I" - i
\sfisqqeAi+fus, mrm2=- t.

-53
Txi:- I +-3,t:-15=ft-5.

gy=r 17. go vrolGr..-qqT fr 45. Er 6tur fr taqry-sTqr q{ intercept 3 5i5T$ aratr t W
toranqctstulErt?

Ea: l6qf { m=tan45o =lEIITc=3.
.'. {stqrq.lqqtfiqt t l= l'x+ 3 eTqt( y= x+ 3'

qFr 1 8. (+ rrrfi ter y+rar * qcrfr{ qrfi eilr I 5+',r$ qfr w t vs ter uT q+filr Hr t a

5a : we t fr' 6 19161 q-t sfi+'wr I : + t.
ylnr 1 e. g q.{tT\retr x-sTqT *. q'qriTr x-3reT + qti 3 F6r$ qfr qr t. ?s tsr Eir Tlitfiul €r t ?

ErI : we t Fd fl ri\ur fi'r qqt*Iqv = - 3 3{qi( v + 3 : 0 t'

qr{qr6{r 38

Frqfsfua fr t c-+d vpl t *+, stn qi futifua 1',11 a1&q:

L t{€ (-2. - 4) t+,'s e-g'fcT< i fuIf, t ?

(a) Yw (b) frfrq
z. ft-g 13, - r) ffi€ qg,+cr< d f{rrd t ?

(d) yerEr (b) fd-fi-q

3. t{d (s, r; t+e 
=-geivr< 

i furd t ?

(a) eEc (b) Ffrq
4. td€ (-4, o) f+v qgffi { ford t ?

(a) ee{q (b) fE-fi-q

s. fT< (3, o; t+'s erw vt fisrt t ?

(a) .r-3dtl (b) Y-ueI
6. fu< (0, -4) f6's slsr qr fisa t ?

(a) x-fr{ (6) Y-exH

(c) Ufrq

(c) Ufrq

(c) gftn

(c) Tfrq

(c) r+It lo,$c{'rd

1c1 s+dtffivgrd

(4 qg'i

(4 qgd

(4 TEd

(4 qg{

(4 E{qt+{rd

(d) E{c- t 6ti Td
(tfietrr,2006 )

s) F*

7. i{< (6, - 8) {r t{€ t fn'f,fr qft m t 7

(a) 2T+ri (b) l4Esfi (c) toE+r{

8. td< (-6, o) q1 {fl-f{< t ffi qft t ?

(a) 6 F+r{ (b) ,.6 {6,ri (c) 2.6 wri
9. f{<eir,4 (b, 0) dqr B (0, a) * etq 61(fr ffi t ?

(a) (a-b) (b) (b-a) (d 
'[a+b

r0. f{<sii l (8, 5)nQl B (4, 2)+ frq61(fr ffi t ?

(a) 7 {+ri (b) s {firi (c) a {+'( (d) 3{{ri
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n. tu€siid (2, 2) ren B (2, _3) + +s +1 qt ffi t ?
(? 

? r*i (6) 3 {nr{ (c) a E+ri (d) s E6ri
12. qR E€ p (jr, ),)E1 t{< I (a, o)t (fr (a + x) d, F;,2 =,

(a) 2ax (b) 4ax @) 6ax @) Bax
I 3. x-s{H c{ furd S+ fq-{ retsl * <rfi *r y_ar * g Ffir{ E0 c{ t. qH fu< + frt{rifi t:

(a) (3,0) (r) (0,3) (c) (3,3) (A G3,3)t4- y-eier v{ (rs'fq-<,1, x-oTsl t 4 Ffiri E0 c{ .r-srcr t ++ fun t. qs fe_d + f{aqr6t,
(a) (a,0) (6) (0,4) (c) (_a,o) (d) (0,_4)

r s. tug ,l (0, 6), B (_s, 3) der c (3, r ) +.S fi5q + yftd fc-< t ?

(4) Hctrsrg (b) Rqlcrg (c) feqrpqrd (d) qffi)ur
16. E-< I (-3, o), B ( l, -3) nail c 1a, r I #S fi5" + yfr{ tq-€t ?

1a) ur+6 fr5v ' (6) r{sc-qTg frgq
1ay eqtspg qe-alu1ftgq (4 E{+ t fs.{+ + T6t

r z' lcg z (1, 2), B (s, 4), c (3, 8) rqr D (-r, 6) q1 mq t H qri q{ t rfrd fqE t{q q t ir{frsg$qttu
(a) erFkl (6) s'i (c) Hrqrgsg{q (d) Edtf6fr+rfr

r 8. tu€,{ ( l, :3), I ( I 3, 9), c ( I 0, l2) Rer D 1_2, o1 + m.r t ffi qri ; nf{q d t+s sg,Jc +{fr{fc-{t ?

(a) aIQd (6) qrqr-gE-g{q (") q,f (4 r{frtffi+Tdt
19. q6 qgfq lrca *, fi{ fug t,l (0, o), B (4, 4),c (4, 8) d:{r D 10, +;. n_<,laco t qc.

(a) q,f (a) er<rgqggc (c) srFrd @;;-=Ufq
20. qfr ttq + vft{ f+< rqyr: A $, 4), B (3, _2) aqt c (_3, I 6) t. E* B!, ; S*.o-e r*r* t z(a) 36 ed r+r$ (r) sz q,i Fs.ri (c) 38 eri rq;r{ - 

(d) F{i.t + #
( qro*"qo rrfrqTr, 2002 )

2 l. w frTq * vfr{ f+g m.+vr : A e, B), B (-4, 2) dqr c (s, _ I ) t. o.tac _ ut#. A* t z... --l I(a) 28i qtFfiE (b) 37rEf r+'ri (c) 57crir+r{ fat zsedEsrg
zz. qR fq< A e, r, B (5, i) Rrrr c 10, zl w*c ti, d r = r

(a) 4 (6) 6

zr. qft tc< p (r, -l), O (s, 2) Ferr R (r, s) srts d,dr=z

-J(c\ 
-2

ll(dt -4
(a)6 (q4 G)s @)4

24. t'o Tr *' aqrs + srfuq ffi / (4, _l ) frcrr B (_2, _5) t. Fs+ +< + f{# *n dtt ?
(a) (r,-3) (b) e,4) (c) (_t,z) (d) (_2,3)

2s. qn tdgq + ${ f*<,,1 (_3, 0\\B (5, _2) Rqr c(_8, 5) t. Es+ +{n * t{S6 dirt,
(a) (-r,2) (b) (1,1) (c) (1,2) (O e,_t)26. 
^A 

BC I a tug ; 10, a; nw a t-2, z) t aer qs+ +<ar + f{Mn o f r, o) *. n< . tn*,*Rrdri?
(a) (a, s) (6) (s,3) (c) (s,6) (o c3,3)zt. teacE i qii r (-3, l) rsr c (0, _2) t qig6rtrq+aei+S t. ffi qii,e *fttsfot'
(a) (3, l) (b) (2,3\ (c) (-1,2) (O (1.3)
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25. A(1,3)ircllB(2,7) d firdri c( si l€rqus c( t+{ cEn 3 : 4 i Fr+n qrar t' tc-d c fr

ftt$i6t: (Hqfrqn,20ffi)

(o (;'')

29. ttlrtl's lB + qf{q f{<,{ (-5' 4) 
"qI 

B (7, -8) t.,ea*,craf{€+frt$is*r EIIT i
(a) (;'') (b) (-2,-e)

/ ro rr\(") [;.;,J

(a) c(1,-2) (r) c(2,- l) @) cQ'a) (d) c(2'-2)

,0. 6giii / (-3, s) flI a (e, -g) d ffert qre t€rsrs 6] t{< P (2' -s; f+,u erdqld i f$rft
Et n?

(a) 2:3 @) 4:7 (c) 5:l @) 5:2

sl. t*<.f ,, (6, 3) ilr a (-2, -s) +l firori qrd tsrsus Ehl 
'-q'el 

fuc erJqn fr frrrm anirn ?

(a\3:2 (a)i:s @)2:3 @)2:5

32. f{€sit I (-4, 2) ilI a (s, r) o1 frsri srd tsruu-s 6i v-scl fo..s 'rrgqm d frrr* ett ?

(g)3:t (b) l:3 @)2:t
*. SFrqtorqlmffit?

(a) o (6) I (c) -l
rt. =*io1torql61f,ffit?

(a) 0 (b) I 1c; vRufutrfi

35. qRffi tqt +1 are z = tan O > o d, A

(a) 0=0 (b) oq{alurt (c) 0=e0'

,u. ofEft'*turafi qre n = ta, e' dd, t
(a) e:{r*iqt (r) 03lftrifi,6}ult (c) e=go'

fz. qR ffi tel al a-re ze = tan O = o d, i zrttct tfr:

tO r+dtqtird

tO witd{rd

1ay e uflr++lut

<O r+it+id

tO r+{t+tirc{

(fl t:2

6166ffit?
(a) *Frq (6) sEaiin (c) firfu

38. qn \sr A i{<st I (-2, 3) aqr B (-6, 5) t Xqrfr t' w tot
rj-l@; @i @^T (a-l

3e. f{<6,,{ (4, -3) ilII I (6, -3) t Xqd qrd \sr a1 qm ffi t ?

(a\ 2 (D) - (c) o tO f*qt+i=rd
m. t6.it I (3, -l ) dtr B (3, 2) t nq{i erol tcr +1 qro ffi t ?

(a) o @); (c) ffirntrtrdt tO rtqt*$<tT
et. &t (2, s) rql I (.r' 3) t $wti ard tur +1 qre 2 d, d x a qt't drn:

(a) I (b) -l @) 2 (O -2
42. qE f{€sil / (t, -3) ncil I (2, 5) E} trf,Ii srd tot Sfflq tqr i t I s" an dq q<rt' fr x = ?

(a) 5 (D) -5 (c) 8 (d) l0

as. i*gO,{ (-1, l) deII B (2, r) t nqd qrd tcr m sfrotq t:
(a) 3x+ 5y+2=0 (b) 5x +Jv+2=O . (c) Lt+ 3v+ 5:0 1a) 6+{*at{rd

a. #< il, -+l t fqt+ qd aqt x-eIH +' rrrlrd{ tcl +l qd6{ul m t ?

(a)y-4=o (b)y-l=0 (c)v-+4=0 tOwftd{rfi
45. qf< iqr{, + 2y - 9 = O t* r* + 4y + J = I sqrd{ fr, a} * m qn f+rm dm ?

(a) k=2 (r) *= I G) k='r (d) k=-2
46. qft 1d ?r + tE + 7 = 0 mn 27 x - I 8v + 25 : 0 qtgr E,a{: i fr f q,r qrt foa-+ t'tn ?

(a) k= - | (b) k=2 (c) k:3 (A k= -2



fra{riq,qfrfr

47. ter x + 
^l-3 

y - 6 : 0 Er x-er{ 61 m-fis, fflr + sH Tfl *ur f6il{ t ?

(a) 30' (r) 60" (c) tZ)"
48. tsrt x + 2y - 9= 0 itefl 3x + 6y + g = a { q{s{..

(a) €tIFtI<I{ (6) EEqtd (c) {vrfr
49. tqrii 3x-4y+ 6=0Rqr 4x+3y- l0=0tcrgn

_ _(9 ltq _ _ _ gl srrnnn (c) mr{a (4 Ed3$lL

(d) 150.

(at rdt+i{d

3iTGNE|T

(b)
(d)
(d)

G)

(a fi.
(a 20.
(a) 30.
(c) .().
(c)

9.

19.

29.
39.
49.

(")
O)
(c)
(c)
(a.i

4. (b) s. (a) 6. (b\ 7. (c) 8.
14. (d) t3. (a) 16. (c) 11. (6) tE.
24. (a) 2s. (b) 26. (c) 27. (a) 2s.
34. (c) 3s. (b) 36. (bl 37. (E) 38.
44. (c) 4s. (a) t6. (c) 47. (O 4t.

(c) 2.(O 3. (a)
(d) t2. (6) t3. (a)
(b) 22. (b) 2s. (c)
(b) 32. (d) 33. (a)
@) a2. (o 4s. (b)

t.
It.
21.
31.
41.

fttrrtrr+*En

3.

4,

5.

r. k<.4 t-2,-+lT#qq<{t
2. tug r 1:. -s) a-gef vn d t.

fuS c ts, 3) yqc cR d t.
_EE o <+, e) f6frq qrq q g.

f*g a fr, o) x*erat rR ftcttt I
6. kg r(0.-+)y-ert vt furo t
z. o,fteqfr= (0-6)2+(0+8)2 = .,fi .e+ =10, : t0 f6(.
t. ertfre qfr = (0+6)2 +(0-0)2 -,J52 = e f*ri.

(b-0)2 +(0-a)2 = lp;F =,F.F
(8- qz +6-2)z = 

"/lO+e 
= JE = S f+r{.

(2-212 +(2+3)2 = vGrf =.,65 =sr+r{

9, AB=

lO. AB=

II, AB=
12, (x - a)2 + g - O)2 = (a + xf + f = e + a)z
rJ. srrflEt{€=(3,0).

-Q-a1z=4*.
14. qrfrrs f{S = (0, _4)

15. AB= (0+5)2 +(6-3)2 = ,tZs+s = Ju, rc = (-5-3)z +(3-l)z = .',tU + I = GS ,
CA= (3-0)2+(r-d)2 = Js-25 = $4

a,aacqfivcEdg frgq t
16, AB: (t-rl)(+1-3-,rz = Vq.t6 = JX = s,

AC= (-3-4)2+(0-l)2 = J49.r =.6d
.. . AB = BC ffi tr62 : tr92 a 692. qir: AlrC r{4E.qqBSrg

sr+1q fig-qt.
t7. AB2 = G _ t1z + g _2,f =(16+ l; = 26,

gcl = 15 - 312 + (4 - 8)2 = (4 + ld) = 20,
Cf =O + l)2+(r-6)2=(t6+l;=29
Ail=(t + \2+(2-612=g+ t6)=26.

D(-1,6)
c (3, 8)

A (r,2) B (5,4)
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." AB= BC = CD: D/ RtTl frfi.g| AC:ffi BD

erO:,rBCD$f q{t

18, AB = (13-l)2 +(9+3)2 = 144+144 =^t-2gs =rzJ' D

(10 + 2)2 +(12-0)2 = 144 + 144 = Jzss = rzJ,

BC= (13-10)2 +(9-12)2 = ,6.1 =Jlt=il2
AD= (l+2)2 +(-3-0)2 =.F-, = Jrs =:.,D

ffi,tC: (10-l)2 +(12+3)2 = !'81+rr5 = J306,

M ap= (13+ 2)2 +(9-0)2 = Jrrs.U=^tq$
... AIJ - CD, BC : AD<Elffi ,4C = ffi BD

*. 766p q+ ur+a t.

(4-0)2 +(4-0)2 = !/ie.l6 = Jtz = q.,tr,

14-4)2 +(4-B)2 = Jo+t6 = JG = 4'

(4-0)2 +(8-4)2 = JG.t6 = Jn = qJi,

(o-o)2+(i-o)2 = Ji6 :4

A

2t {drr = 3, ,

D

CD=

C

B

C

19. AB:

BC=

CD:

DA:
R

Mrc: (4-0)2 +(8-0)2 =J[o =f-6, Eqo| ao= (4-o)2 +(4-a)2 = Jlo+o = Jio : +

.. AB = cD, BC - lD dql f{fist o6 *Vad ao'

. . r48CD q6 nrfl-(fi E-gtq t.
20. rfti rl =4, xz:3, rr=-3, lt=4, yz=-2nsfiv: = t6

lxl Q2- 4) + x203 - Yr) + x3 (ll - Y2) )

t4(-2-16)+3 (16-4)-3(4+ zy: I gz+ 36- 18)

l-90 + 36 l= 27 qd 56,ri.

-4,\=5 tT lr = 8, Yr= 2, /r=-l'

{x102- r) + xzUt- !) + iUt - Y)lA

I

,
I
2

I

,
,,

I

1
l
) (3(2+ l)-4(-t-t)+5(8-2)) = ] tr*ru*,0)=37; q'i5{'r$

ZZ. qEi -rr =2, x2= 5, x, l6drIIy' =1'vz:k, yt:7'

{x{vz - vt) + xz03 --r1) + x301 - Y)\ = o

= 2(k-1) +5(7- 3) +6(3-k) =0 - 4k=24 + k=6'

23. qEixr =1, xz= 5, .x3--[(gIyl =-1' yz:2, yt=5'

xt(yz- y3t + xr(1tr- y) + x{!r -/z) = 0 
.

= 1.12--S;+5 (5 + I)+ k(-l -2):0 +-l + 30= 3k=3k=27 + k=9'

' /4-2 -' tt
24. +-< + f{t{Ii6 = l;- ; ) 

3rqt-((r, -3)'

zs. t-<+ * fityrio = (]r,, *,, *,r1, 
J<r, 

* r, * rrl) = (] t'.'-tl, ] (0-2+ 5) :(-2, l)

ac= Jti-:rr<z-tr' = 6x = J6 . ao= .',[s*rl,*a;f = !6t.4 = J40
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26. cnr trsfl f{< C (r, y) t. n-s

j ru-r*a=lo* j g+2+y)=4 3r+4=gderry+ 6=12+x=5, y=6
. . ilqo tc-{ c (5, 6) t.

27. cnrfrsfl 6tfl I (x y) t. rq

] U-r*0)=0dcil j Cr*,-ry=0=.r-3 =0nqr.y- l=,0=+x=3,y= r.

.' , 6 Flqriq 1r, r) t.

,r. .q;6fui+t ['-3*1''.3x?+ax3) .rqt [10.I')[ 3+4 3+4 )-""\\i'i)
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,r. 7961 qqfugt c

3l

-5*+3
*.1

-2t+6 -5t+3)

-- 

_t
k+t k+t )

-5+7 4-8
2

euiq 1r. -z;

30. crfl elfie er1vp6 t : I t. ils p 4k-3 -9k+5
k+l *+l

2

( *,TI.

4k-3 
= zaqr -9t+5 --.t+l l+l

=. 4k-3:2k+z?rqt -9k+ 5=-50-5= k= :
^5srql€ 3r{crd = ; : I e]qlqs :

qFIr e$E srJCrd = t : l. nE P

=0=-5ft+3=0+5k=3 = 
3

k= 
5

oseergvn:J:r=r:s

2.

32. qm et$e sTJqrd = k : l. nq p

. Ek-4 I

t_l :0+8t-,1 =O+k= 
Z.

^tsrqtqsrgqd=1:t=t:2.
33. *kq tsr qfr qrd o t.
35. tan0>0+ e {T+}Er t.

37. qR z = tan 0 =0 d, dqEtcr gqfq{ftfr

39, tsr,48 E1 arf, - -3+3 - -o. 6_4 ; =o-

3-5
41, l_Z-2*x-2=- I =x: t.

42. ABp, r;td- (s+3) - 8
' (2-x) (Z_ x)

.E

sl. sqiw tcr o1 qrf, cftqrtud rd t.
36. (an 0 < 0 =+ e g.F' srfrrs dq t.
38. tqrlBqlarf,- 5-3 - 2 --l' _6+2 _4 2

40. tor,4B +1 6-rq = 

= 
= i. d cft.nkd 1-6t t' 3_3 0'

8k-4 3k+2
k.l' k.l E

if-11 =tun I35": tan (180" - 45') = - tan 45. = - I +.r-2=8=r= l0
^ -4-t -s43. lS st GITI = 2.1 = 

3

er*es+fr-<,rY-l = 
-5 

=.r+l , +-5.r-5=3/-3+ 5r+3y+2=0



qqf{E 3i6T Frd
504

44 fr l{tqr o.I q++-tq t # = ruro = o = ) + 4 = o

45. x + ?y - 9 = 0 a 2Y =9 -, -, -' l9
-.x + -22

-l 5

kx + 4y+ 5= 0+ 4Y=- kx-5 a Y= 4'- 4

1 -k
.. | =- J isllnt = 

-.,2-4

{'rtw'qq<{t. *, * = 
-} + x=z-

-2 'l
46. L\ + lE + 1 :0 + ky=-2x-7 -Y= k' - i

21 25325
27x-liy+25=O+lly:27x+25+y=,A'* tt 'y= r'* l8

-23.. m, = 
- 

itII nr-:' 'r z

fr d,ri }gTa' q(g1 tqqd t, trd'. m rmr-- - 1.

_', 1

" k"2
47. x + .,lly- 6=0=+."f3Y = -r+O=, = 4, * *' J3 .,/3

_t
tan0=-7 =-tan 30"=Ian (180'-30")=tan 150''

{J
qd: 0= 150".

l9
48. x+2y-9=0 + 2y:-x +9 + Y=-'x+-.

l4
3x+6),+ 8=0 + 6Y=-3x-8 + Y=- -7--'

. -lt. mt= nz= a'
era: 4'r{lsril c(s{ sqnr<{ t'

49. 3x-4y+ 6=0 + 4Y=Ja+$ aY=

4x+3y-10=0 + fy = -47+10 + Y= +'-+
3 -4*l= +' ^2 = I - m1m2=-, T =- I

33
-x+-42

3-4


